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Part A {Short Answcr Questio*s}

Answer any eight questians.

tAteight I each

1. What is a rand*m variable? Give *xamples.

2. Write down the density function of the Normal Distribution stating the parameters therein.

3. In a nrrmal distributinn, find {i} P (z 5 1.85}. (ii) P (z :: 2.03 }.

4. What is level of signiflcance?

5, A random *amp[e of 15 pairs of observation from a normal populaticn glves a correiation coefficient 0.S2^ ls the

- 
correlatian significant?

6.Writeiirbrief'Chisquaretestforl.lonrogeneityafsever.alpopulationpropottiots'.

?. Wlien cari run test be applied?

s. Explain double sarnpling plan.

9. What is multi-variate analysis?

10. What is multiple regression?

18x 1=8 weightage;

Part B {Short EssaylProblems)

Answer any six queslions

Weight 2 each.

11 . Out af 1000 houses on{y one house catches fire in a year. Find the probability that out of the 500 hcuses, exactly

lour houses would catch fire?
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12. The in*cme of a group cf 10000 persofis was found to be normally drstribut*{i wilh mean*Rs.750 pm and

standard deviation=Rs.50.$how that of this group about 95% had income exceeding Rs.668 and cnly 5% had

income exceeding Rs.832.What is the lowest income among the richest 100?

1 3. The mean yield of wheat from a district A was 21 0 lbs with standard cei,iation = 1 0 per ecre fron': a safiple of I 00

plots. 1n anothe. district B, the mean yield was 200 lbs. standard devratio* * 1? lbs from a sample ai 150 piots.

Assunring that the standard deviation oi yield in the entire state was 1 1 lbs, test whether there is any significant

difference between the mean yieids of the crcps in the two districts.

14. ln3samplesof50 lineseachfromShakespeare'searlyplay'Romeo&Juliet',thefollowingno.ofweakendings

wereobseryed*7 9&10 ln3sampiesfromCymbeline,alaterplay,theno.of weakendingswere15, 11 &12
Discuss the suggestion that Shakespeare's prosody as judged by no. ci weak endings increased with advancing

years.

15. ln a random sample of 600 men fronr a large city, 450 were found to be smokers. ln a random sanrple of 900 from

afiother large city 450 were found to be a smokers. Do the data indicate that the cities are significantly different in

respect of the prevaience of smoking among men?

16. The nurnber of scooter accidents per month in a certain city is as under

L2,8,2Q,2,14,lfr ,L5,6,9,4

Do you agree that the accident conditions were the same dur!ng the 1.0 manth period.

17. \\:'liat is SQC? Siate its scope.

18 Horr,r does factor anaiysis simplify research findings?

i6x2*12 weightagei

Part C (Essay ?ype Guestians)

Answer atty two questions.

Welglit 5 each.

.'t o T'l:e scrcp's pt'oduccrl i:y a certair: n:achine rl'ere c,hccked b1,cxauriniag samples. The f'ollouing tablc shor.r's the

dish"ihutilr ol J 28 samplcs acccrding to ths mulLlrr of cie{bctive itr:irs tbc,v contai*ed. Fit a binoniial distributian.

No. tf llelrctives i) 1 2 3 4 5 6 7

I{o. of Suruples 1 6 t9 l: 30 23 1

20- Below are given the yield (in kgs) per acre for 5 trial plots of 4 varieties of treatrnent.

Treablent

PlotNoItrIIIIV
142486880
250665294
362687678
434786482
552707066

Carry out two way analysis ofvariance and state your conclusion.
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z1 Trvc ressarthers adopted dilTer-elrt s.ampling techriques rchile i*r'est.igati*g i}:e sanr* group of studeit{s to hnd ih*
,1umbff olstricienl.s i*lling in di{lereut iateiligence ievels.'Iire resillts arc as f,alhrrys

Itesearcher lJel!r14' average

sludents

Ar,erage s1ude01s Above ;verage

sirdenls

tleniu: studeuls 'lbta1

x 86 6tl 41 10 2ttLi

Y  fi 3"1 2-\ 2 l{xt
'lbtal 12{} 93 {:9 1 li{i

\&'buld you s:r1' that the liuapling teclnicpres adopted b,v the hrrr researchers ire significantly di{ll1ent'? { Given 5-ozi r.,alues 4l
Ciri-Square lirr 3 d.l nad 4 d.l. are 7.$2 a:rd 9.49 respectivel3,.1

22. The rneatl and range of ohservations relating io 6 samples of size l0 relating tr.r a pr,:6,r.,t*n process are given

below. r\dvise the qr:ality control manager usin€, mearl afld range charts.

l-rse for n= l0 ,42 : 0.308, O-r : 0.223. D4: 1 .777

Samples 1 2 ) 4 6

Ir4ean I 1.6 11 |t /.1 t4.s 13.8 1'1 () 16.6

Ii.ange ]4.1 19. l 22.9 18 14.6 21

12x5*10 weightage)
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